1 dw

el L el pole Lpgllemy 10l

-

S 9ly lid a (1
S22 e (

a ol il @

0<b<%j tanb =2+ /3 : oo Jusly Ll b (2

b olus sl (@

:2(@,.«3

oS3 el 9 SIN28 sl ( O<a <%jCOS&=g:C~:} a9ly wléa
:3(&_}.&
X X\

vVxelR (sinz+cos§j =1+snx Ol el

p 2, 1
X#—+kp /keZ tan“x= ——1 0l Om2

2 COoS” X

vxelR cos* x=cos2x+sin x ol (3

VxelR sin®x+cos® x+3sin?x.cos? x=1 : Ol (a4

2 SinX+cosy =+/2
B} 9 { Y o Olidgds Olade Y 9 X 14yl

(x.y)< 0.2

sin® x+ cos® y=1

2 2
[cosy—%] +(sinx—g] el sl (1

Y 9 X (e o e il (2

A et pias 5 el

tanb ¢ tana sl (1

. + a
a+b=l 0 o2 /






